Divide by Positive Powers of Ten (F)

Find each quotient.

32 +10' = 38 +-10° =
72 +~10' = 13 = 10% =
96 + 10° = 72 =102 =
62 +10% = 1+10%=
33 +-10%= 6 =103 =
81+ 10'= 86 ~ 10° =
4+10"= 22 +10% =
19 - 10' = 75 +10% =
45 - 10 = 56 ~ 10% =
30+ 10" = 7 +10%=
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Divide by Positive Powers of Ten (F) Answers

32 +10'=3.2

72 +10'=7.2

96 + 10° = 0.096

62 + 10% = 0.62

33 +10%°=0.33

81=+10'=8.1

4+10'=04

19 +10'=1.9

45 - 101 =45

30 +10'=3

Find each quotient.

38 + 10° =0.038

13 +10%°=0.13

72 +10%=0.72

1+10%=0.01

6+ 10%=0.006

86 ~ 10° = 0.086

22 +10%°=0.022

75 +10%*=0.75

56 +~ 10 =0.56

7 + 103 =0.007
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